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Non-Major Elective — ECONOMICS FOR
COMPETITIVE EXAMINATIONS —II

(For those who joined in July 2017 onwards)
Time : Three hours Maximum : 75 marks
PART A — (10 x 1 = 10 marks)

Answer ALL questions.

Choose the correct answer.

1.  ‘Csss aisald’ erenm UigSns AaflSseurr
() Serah
(=) gmpGeudaen
@) Yo

(FF) ULl Igerdlem



The concept ‘Stagflation’ is given by

(a) Keynes (b) Samuelson

(c) Pigou (d) Patinkin
“CouemaeveumiitiL, eul'lg WwHmb uerd updlu Qurgé
Camur®” erety Erened eflEseu

(1) Gewburreder (<) Seeiv

(@) gD (FF)  grUrl_ger

The book ‘The General theory of Employment,
Interest and Money’ is given by

(a) Chamberlin (b) Keynes
(c) Marshall (d) Robertson

PQLI 2 (peungsgdled LwearuBiSsiiu®n sryent
(@) soeilubley aldlsid

(<) SApmi Goiiy

(@) euwg garhle THTUMTESIUGHLLD UTPBIET
(F)  Cuopsmdlu Semarsgib

The variables in the construction of PQLI

(a) Literacy rate

(b) Infant mortality

(¢) Life expectancy at age one

(d) All the above
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201910 Yamged wafls cuer GHuI g @bSluimaler
@L b

(1) 129 (<) 130

(@) 125 (FF) 132

Indian Rank is HDI in the year 2019

(@) 129 (b) 130

(© 125 (d) 132

@ndwureler Hs  eTe|  BSTOWLTSSILIL L
bl

(=) Gsrarm (<)) LEHaL
@) sl BrH (/) S
The most urbanised state in India is
(a) Kerala (b) Punjab
(¢) Tamilnadu (d) Bihar

epaner aupl & CamemmnieugHaTeand: &myewrid
(=) Brlige BHloeb awduierann

(<) Coever Bmrhisaied Hleayd &HDHEUTEHEHESTET
Gauene eImUILIL|&ET

(@) Cobul L erpsamassrer 6l(HLLLD

(FF)  Cuopsmdlu Searsgib
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A brain drain can results from

(a) Turmoil within a nation

(b)  Professional opportunities in other countries
(¢) Desire to seek a higher standard of living

(d) All the above

cuflengullgyerer Soum e eramanesnt &esr(H iy
3, 8, 15, 24, 34, 48, 63

(S4) 15 (=) 24

@) 34 (FF) 48

Find the wrong number in the series

3, 8, 15, 24, 34, 48, 63

(a) 15 (b) 24
(c) 34 d) 48
UOI?A

(@) E (<) C
@) S (FF)
UOI?A

(a E (b) C
(© S @ G
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10.

yerefl aflur <puiefer sl & Hlane
(1) eriglligmi

(<) Camglé

(@) aflosiupsgised

() Sl L euement(HSSIH0

The last step in the analysis of data
(a) Editing

(b) Coding

(¢) Classification

(d) Tabulation

“ereu(mUaTeUHMIET 6Tg e CUTEHE SH6Ten6ULIE ?
(=) eyme (<)) B eramr

@) wsh (FF)  LIpeued

Which is not a measure of central tendency?

(a) Mean (b) Median

(¢) Mode (d) Dispersion
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PART B — (5 x 5 = 25 marks)

Answer ALL questions choosing either (a) or (b)

11. (&)

in 200 words each.

Sooll L&aTe 2 HLGH smienll ellers@Hs.

Explain the Cobb-Douglss production

function.

Or
‘Celliilblenr  prerun®’  eTetn UG LOSENS
ollaTsGs.

Brief the concept ‘Paradox of Thrift’.
@ndHwreie QU (eI THDSSTeSHSTeT
ST RISEDETS &(THS.

Account the reasons for income inequality in

India.

Or

Qumrmernsmy wearCardnsasub, QuTmaTTsmy
cuerESlanwiud Ceumii(hss)s.

Distinguish between Economic development

and Economic growth.
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13.

14.

15.

(=)

(=)

(=)

‘ulmy  perGarhpd’  eTemtn UG LDSENS
clleTé&s.

Explain the concept ‘Regional development’.

Or

‘pener el El T cuedgumSS,  Aeubdler
STTERTHRISED6TS o fl) &.

Define ‘Brain drain’ and state its causes.

Yereflweller Lianflger wreneu ?

What are the functions of statistics?

Or
sreysaflen aflerssnd LHH GDILL eT(PSHIs.
Write a note on interpretation of data.
A earempred ‘sal e B eremmrned ‘sz’ C

GreTmTed UGS wHmId D erermmred ‘Qumese’
crafléd 18A12C6D2B5 = ?

G 15
G) 25
(i) 27

(iv) Cuwpaadlu ergia|dloena
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If A means ‘plus’, B means ‘minus’ C means
dividend by and D means ‘multiplied by’ then
18A12C6D2B5 =?

1 15

@) 25

(i) 27

(iv) None of these
Or

‘lee see pee’ ererLg) ‘LIPFFTM Glg GTETLIMSWLD
‘see kee lee’ ereug ‘LpFETm  SHeeULITS
@ w&dpg’ eaumsyd ‘lee ree mee’ ereLig
‘Geuat  Lgdlemed  eremLaSL|D  MISSHTER’

‘seeuuTarg’  eTeTUMmS  eThs  euUMTEs
CLERIETY

1 lee

(1) see

(111) kee

(1v) pee

If ‘lee see pee’ means ‘Drink Fruit Juice’,
‘see kee lee’ means ‘Juice is Sweet’ and
‘lee ree mee’ means He is intelligent. Which
word in that language means ‘sweet’.

1 lee
(11) see
(1)) kee
(iv) pee
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PART C — (5 x 8 = 40 marks)

Answer ALL questions choosing either (a) or (b)

16. (=)

1in 600 words each.

Guilwe QummeTTSTrdS 6t Silg LIl
&H(HSSSHEMET 66T E)s5.

Explain the basic concepts of macro

economics.

Or
Semedlw Liereflul eorifl ot SbSeHETHEET
AsTEsss 5G5-
Summarise the Keynesian school of thought.
Qummersmy wearCarmnsamns undledlerm
srrenilaamer allemd@s.

Explain the factors affecting economic

development.

Or
weflgaiar arCarhp  GNUhsmers smikiss
SIOEE

Brief the Human Development Indices.
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18.

19.

20.

(=)

Ul Lmyiis@Ehsdlen_Cuuwiner egHmnssmpedhsmer
ST HRISEDETS &(TH.

Account the reasons for regional disparities.

Or
FoHO LTy eleTiESluldlarmed 2 (heumd@
Gyséleargener <y Uis.

Analyse the problems of unbalanced regional
development.

uoCGaum  srey CFLETES BLGlGEDSHMET
cAlemd@s.

Explain the various data processing
operations.

Or

Qumrmeflwedler Yeraflwed 2 sdlaaflenr Liwcmsamer
elleurd).

Discuss the uses of statistical techniques in
Economics.

@ 7, 12, 19, 2, 39 e eaflmsule
Caeralls@m @Liul @Lsded eumb

GTGHOT GTGOTGUT ?

(1) 29
@2 28
(3) 26
4) 24
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(1) %,%,g,% aary  auflmsou  HSs
QU(HEUG| GTGITE ?
9
(1) 39
10
(2 17
11
3 1
22
(4) %
TSN
Gi) A "L &
A I3 ¢
(1) 25
2 37
3) 41
(4) 47
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(iv)

@)

(i)

.L7A\ ? \buB

Amm

M

2) 12B
(3) 16C
(4) 18C

Which number would replace question
mark in the series 7, 12, 19, ?, 39.

(1) 29
(2) 28
3) 26
4) 24
Which Fraction comes next in the
3 5 7
sequence —
274’8 16
9
1 -~
(1 39
10
) e
(2 T
11
3 el
3 V)
22
4 a4
(4) 35

Page 12 Code No. : SS 22462 B



(111)
H
) ¥’
1) 25 !3
2 37 | |
3 41 |
4) 47

(iv)

1)

(2 12B
3) 16C
4) 18C

Pa
gel
3C
ode No.: S
.+ SS
224
62
B



(<) @)

(i)

(111)

MYSTIFY eretuens NZTUJGZ  eren

GO L med NEMESIS CTGITLIGNS
ereueumm GO Couesr(HIbd ?

(1) MDLHRDR

(2) OFNFTJT

(3) ODNHTDR

(4) PGOKUGU

D = 4, COVER = 63 araflé> BASIS = ?

1) 49
@ 50
(3) 54
(4) 53

PAINT erenmuieng 74128 eremajib EXCEL
arareng 93596 eremed (@M LT
ACCEPT eemuens ereueumm  @mILndl
Couar(Hitb 2

(1) 455978
(2) 54978
(3) 554978
(4) 735961
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(iv)

@

(i)

‘T eTETLIE ‘@& eTaTeyld, ‘& eTeTLg)
‘qumi’  er@rejlb  ‘eumls  eTetTLg  ‘Hmg
gateyld ‘sMg’  eTeTLg (Ppd@ 6T
‘epd@ GTGHTLIG ‘Bré&@ TG LD

SDIDPESLILILL_TED, ) Leflgetr
19 6761 (6 36U H M 6T TS 6T PO
CaL_dlpmeir?

(1) ser

(2)  eumul

@) wss

4) sz

In a certain language MYSTIFY is
coded as NZTUJGZ, how is NEMESIS
coded in that language.

(1) MDLHRDR
(2 OFNFTJT

(3) ODNHTDR
(4) PGOKUGU

If D=4 and COVER=63, then
BASIS =7?

(1) 49
@) 50
(3) 54
(4) 53

Page 15 Code No. : SS 22462 B



(i11) If PAINT is coded as 74128 and EXCEL

(iv)

1s coded as 93596, then how would you
code ACCEPT?

(1) 455978
(2) 54978

(3) 554978
(4) 1735961

If eye i1s called hand, hand is called
mouth, mouth is called ear, ear is
called nose and nose is called tongue,
with which of the following word a
person hear?

(1) Eye
(2) Mouth
(3) Nose
(4) Ear.
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